INLINE PIVOT CLAMP ASSEMBLY (SET)

Phone: (919) 575-6426
Fax: (919) 575-4708

INSTRUMENT COMPANY www.eNewton.com

Modified:11/04/2009

part number sidebar

2217730110
2217730210

Ordering

© ©

Note:

Stock List

ltem Qty

© 00 N O O b~ W N =

e adjustable up to 180°

D 00 O OO 0 O L O H

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited

Description

pivot clamp

3/8™-16 x 1-1/4” hhes
1/4”-20 hhn

3/8"-16 hex nut

1/4” lock washer

3/8” lock washer

carriage bolt 1/4-20 x 1”
1/4” external tooth washer
3/8” external tooth washer



